
1

• La suma tiene las propiedades
asociativa y conmutativa, pero la
resta no.

•

Recordá

1

127 – (56 + 32) = 39  127 – (56 + 32) = 103

2

•

(234 + 126) + 68 

(234 – 48) – 34 

234 + (126 + 68)

234 – (48 – 34)

•

Recordá que 

primero se 

realizan las 

operaciones

que se 

encuentran

dentro del 

paréntesis.
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36
124

– 124
36

–

•

•

(5.500 – 60) – 70     5.500 – (60 – 70)     5.500 – (60 + 70)

Tené en cuenta 

que la resta 

no cumple 

la propiedad 

conmutativa.

Por eso, solo 

una de estas 

dos cuentas  

4
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